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SN EB - S2A(3) - MEAY - BES Abod plE<ED =2

31,771,457 23,413,954 8,357,503
= 706,567 706,567 0
2 & T ekt = 5,843,005 5,843,005 0
| 7,000 0 7,000
= 848,039 686,313 161,726
= 24,366,846 16,178,069 8,188,777
SN 668,677 545,177 123,500
UBtALHHX R 35,165 14,607 20,558
C2USE A 5,692 5,802 A110
201 Let2Ad| 990 1,100 A110
01 AR 2teld] 990 1,100 A110
OLSHIA 2tE HEA(MESZ MOS0 A E A 2 & 990,000& 990 1,100 A110
=7 M 2el2Y 4,765 5,295 A530
201 Lt AY| 4,765 5,295 A530
01 AtR2teld 4,765 5,295 A530
O=SML2H Q2SS S (MESTEHOIHM LS 4 4,765,000& 4,765 5,295 A530
=2 0|83 24,708 3,510 21,198
101 @124 4| 21,549 0 21,549
10 JIZtH22AsSE=+ 21,549 0 21,549
OMOI==2 A 12 32,650 » 1121 = 60 21,549 0 21,549
201 LBt AY| 3,159 3,510 A 351
01 AtR2teld 3,159 3,510 A 351
OMOIE=Z 0IESI| =S (MBI HOIRHMLHE 23 3,159,000 3,159 3,510 A 351
Jt2 2 ZHl 633,512 530,570 102,942
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MM ALHH DA

CHel Dt 28 A J H| EERED

SN B SA(SH) - NRAY - B 0l st ol o HIRE2
| | | Onzcoss 2w a(MZRHOEZE0) 10,000,0008! * 4742 40,000 0 40,000
8,733,669 6,023,576 2,710,093
c2AL 2 ) 495,000 495,000 0
7 8,238,669 5,508,576 2,710,093
28X 1,491,412 1,170,280 321,132
c2ex e 236,634 34,593 202,041
201 LBt Y| 26,919 08,243 1,304
01 Ar2z2lH| 5,625 6,250 625
SIEEES-TT} 5,625 6,250 AB25
02 ¥ SOHET2 T8 HE(MESHMO|SH0AE 2N A 5,625,000 5,625 6,250 625
02 Zz=29H| 21,204 21,993 699
O[AEEHI S XIHI] 5,040 5,600 560
OSZZHHIZANED, 0IEI, 2SS (MESH 0|80 AR 24 0H) AR 2,700,000 2,700 3,000 A300
OZ2HHIRAVED, D], 22t 42U (MBS T OIS0 AR 2 H) AF 2,340,000 2,340 2,600 A260
Olxtar. doth|] 16,254 16,393 A139
OZ2EAE X2 S (MESH OIS AZ2ZH) A 5,030,000 5,930 6,589 659
OZ2HA X2 SAHI(ME SO0 AR 2oH) A= 4,320,000 4,320 4,800 480
OE2a= UL #HNET 42 SAH (MESE OIS0l AR 20H) AR 4,504,000 4,504 5,004 A500
OLEISBLEHZI| SX | 1,500,0008 * 14! 1,500 0 1,500
206 T 2 Hi 7.715 6,350 1,365
01 Wl 7,715 6.350 1,365
OE2HAXN-HEHEAHNSHATH Y (MBS HOIHUAE L H) A 5,365,000 5,365 6,000 635
OZ2EHIE NP (4, 20,8, %, & IIS) 2,000,00080 * 1Al 2,000 0 2,000
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creE2 st (B2 &S
SN B SR(BH) - NRAY - BES 03] & o I & o HRS2

405 KtatF S| 202,000 0 202,000

01 MHH=EEFSH 202,000 0 202,000

OL2FH BZE™H 22(8.58) 167,000,000& = 1CH 167,000 0 167,000

OBZEY 2 HM=HHS M= 35,000,000& =14 35,000 0 35,000

£ ol CH 24 10, 125 8,850 1,275

201 2er2dE 3,456 1,440 2,016

01 At=2teldl 2,376 240 2,136

O[A&ZHI=Xdl] 2,376 240 2,136

O+=2d ATAIE FF FL(MIBZIHOIHAELZH) 348 216,000& 216 240 N24

O+==2 ¥ ATAIL FRARU(FIHE) d& 19,6008 * 65 * 1004 - JI& 216,000 960 0 960

o2& I=4l 150,000& = 82! 1,200 0 1,200

02 B3=9gl 1,080 1,200 A120

Ol2223%LHA] 1,080 1,200 A120

O==2RUIIAYESZENEINHI QLI (MESE MO A E 2 NH) 23 1,080,000& 1,080 1,200 A120

206 M =4l 4,914 5,460 A546

01 M=Hl 4,914 5,460 A 546

OH&EE 2 P (MEREMOIH0AEZH) 23 1,954,000& 1,954 2,500 A 546

401 A& HIZ RO 1,755 1,950 A 195

04 A&t 1,755 1,950 A 185

SO ALY X (MESE OIS0 AE2ZH) &3 1,755,000& 1,755 1,950 A195

23| 1,217,653 1,096,837 120,816

206 M =4l 14,996 16,663 A 1,667

01 M=Hl 14,996 16,663 AN1,667
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o

S AETH
HI: T2 A2t
cHel 22 X 22 (CHel: ™
A -3 -H2A(SH) - HEAMY - BES Off &K JlEH Hlns2t
B C2MEAY = 625,565 495,073 130,492
725,565 595,073 130,492
401 Al HI L2 HYI s 100,000 100,000 0
z 625,565 495,073 130,492
02 AAIA A 18,200 20,000 A1,800
OIS T2 ALY AALHHI (MBS E 20| S 0 AR 204) 23 18,200,000 18,200 20,000 A1,800
03 EXI0HYH 67,292 72,769 A5, 477
ORIEEZIHHAY EXNSAH (KA (MBS FH OISO AR 24H) 3 47,292,000 47,292 52,769 N5, 477
04 Al&HI 638,000 500,000 138,000
OSIB T2 LAY SAHI(KHAH) (ME S H 20| S0l AR 24 H) ZX 288,000,000 288,000 320,000 232,000
ORIEET 2N AL BAHI(SHASH-MSAZ2H) (KA (FIH2) (MY S0 AR 2T 0|
) 27 388,000,0008 = 1.0km — J|Z 288,000,000 100,000 0 100,000
ORISET2NEAL (M S| ZA0S L) (2X) (MBSO A LI HOISH) 70,000 0 70,000
06 A& 2,073 2,304 A231
OSIEBT LAY AL (MESE 20|84 0f AR 2H0) 33 2,073,0002 2,073 2,304 A 231
2 T2Y == 1,093,627 1,126,252 A32,625
DA MEE-GIE ZE SHEE BA 451,242 501,380 A50,138
401 Al HI LRI 451,242 501,380 A50,138
03 EXI0HYH 48,650 98,500 A49,850
OZAM AEF-allE2 2 SHEZHDAI EXHLHI (M ST OIS0l A= 2HH)
A 48,650,0002 48,650 98,500 A49,850
06 A& 2,592 2,880 N288
OZAM AEE-aE2 2 SEHSAHME SO0 A= 2HH) 3 2,592,000 2,592 2,880 N288
NBE BYE-g242 25 SETEIA 256,880 363,200 A 106,320
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S 2 T Dt
HH: 2 AL

ColiRe CRo aE (tol:He)
SN EB - SA(SH) - MBAY - BES 0l & 24 p/E-L0 BlRnE2

401 AIEHI Y204 256,880 363,200 A 106,320

03 EXI0HH 54,000 60,000 26,000
OANE BEZ-"242 & SZZIA EXNSLH(MESE OIS AE L)

2 & 54,000,000 54,000 60,000 26,000

04 Al&HI 200,000 300,000 A 100,000

OANE BEx=-242 & SHZFIA(MESE MO A E 2 H) Z & 200,000,000 200,000 300,000 A 100,000

06 AlESOHI 2,880 3,200 A 320
ONE BYE-2A2 2 SEFTA ALSUE (MESE 020 42 o)

2 & 2,880,000 2,880 3,200 A 320

oL AN SA 310,296 201,440 108,856

1 AEHIR S0 310,296 201,440 108,856

02 A AIZAH 12,000 0 12,000

OZE TMRI| A AAIEH 29 2,400,000& * 5.0km 12,000 0 12,000

04 Al&HI 297,000 200,000 97,000

Ostdh SE-MEXNFA(MESE OIS AE2ZH) Z2& 90,000,000 90,000 100,000 A 10,000

Ostat =38 - MEXR(FIHE) 2% 76,000,000& * 2.01315km - J|& 90,000, 000& 63,000 0 63,000

Ol SZE-NEFXZA (MBSO AE2ZNH) Z& 90,000,000 90,000 100,000 A 10,000

OO0l SZ - MEXZR(FIH2)(MERUAZ LT HOI-)

2 & 76,000,000& * 1.89473km - J|& 90,000,000& 54,000 0 54,000

06 Al&=0Hdl 1,296 1,440 AN 144

Ot SE-MEXNF ALSPUHH (MEBSE 0|0 AE2ZH) Z & 648,000& 648 720 AT2

OO0l SZ-MEX? ALSUE (MBS0 0l AE2H) Z & 648,000 648 720 AT2

TE 22 ZEIA 75,209 60,232 14,977

401 Al &I L2 OHYI 75,209 60,232 14,977
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A AL
R RI=E=NPEEIE]
tel 2 SR 53 =l
SN B SR(BH) - NRAY - BES 03] & o I & o HRS2
04 Al&H 75,000 60,000 15,000
OSXE ZZ-MelSKAZ(MESE 0|0 A E 2 H) & & 54,000,000& 54,000 60,000 6,000
OEZXxH-Melskl+ A& 75,000,0008 - J1& 54,000,000& 21,000 0 21,000
06 AIZ208l 209 232 N23
OEZ ZZ-MelSXZ(MESEHOI Y0 A2 H) dd 209,000 209 232 A23
SHELE C22 23 4,633,065 2,341,971 2,291,094
Y SE-MHY SHELZ SHEISA 492,592 502,880 10,288
401 Al ZHIL S CHYI 492,592 502,880 A 10,288
03 EXI0HHI 90,000 100,000 210,000
OBY SH-ABN SHECR HEETA EXNOYHI(ME LT OB LAY
&3 90,000,000 90,000 100,000 210,000
06 Al&=0i8l 2,592 2,880 A 288
OBY SH-ABN SHECR HEETA ALROHI(ME ST OB SZ2AH)
Zd 2,592,000 2,592 2,880 N 288
NS A=Kt SHETZE SEY SA 478,569 409,521 69,048
01 AIEHIZ 20 478,569 409,521 69,048
03 EXI0HH 46,300 57,000 210,700
OANE 2A2-3Xt sHETZ HELEISA EXMHLHI(ME ST 0|0l A E 2+ )
&3 46,300,000 46,300 57,000 210,700
04 Al&HI 430,000 350,000 80,000
ONZ 942-2T2 SOHECE HTFTAEILRE)(MILHLZLIH0/Y)
& & 430,000,000& * 14 430,000 350,000 80,000
06 AIE=20HH 2,269 2,521 A252
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2E 2,269,000

2,269

2,521

A252

NE HS-EI2I2t SHECZ SHTX

614,268

682,520

A68,252

401 Al ZHI L2 0HYI

614,268

682,520

A68,252

03 EX0HHI

r

1]
M

OANSE=S-E2t2ts0]

O

04 Al&H
OANSE=-tHAAsHEE

06 AlZ20Hdl

SAEXIOHBI(401-04 AIEHIZ)
Z & 220,000,000 * 14!

I—I DEFOH)
=

= 152,000,000._J - JI& 220,000,000&

an

OANSES-tHA2ASsHECZZ

SAEXIOH B (M

HU
T
H

2 AH401-03 EXIOHLHIOI A )

460,000,000 = 1A

Z2d 2,268,000

152,000

220,000

A 68,000
460,000
460,000

2,268
2,268

330,000

330,000

0
350,000
350,000

2,520
2,520

178,000

A 110,000

268,000
110,000
110,000

A252
A252

325,000

0

325,000

o
0 ME-ES2 sSOHELZ =X
ul

325,000

0

325,000

A EAHH (MERHAZZZMOIE)
43,103,448 = 2.9km

=RIEEVED

68,965,517.2& = 2.9km

125,000

125,000
200,000

200,000

0

0

125,000

125,000
200,000

200,000

2N Y SOECE SEFBA

241,903

268,782

N26,879

401 A& HIZL 2]

241,903

268,782

N26,879

02 A A&

7,980

8,400
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o

S 2 T Dt
=L RN
Ce=0ECR TR0 HE E5GE
SN-EHH . SH(BH) - HPAY - BE2 Off A+ o4 U=l CpmE=FT
OZA 82 S0ECZ SHEZ TA AASIHH (MI S0/ A=
237 7,980,0002! 7,980 8,400 A420
03 EXOHHI 53, 100 59,000 A5,900
ORA 2 S0EC2 HEE TA EXNHS (MFLIHOIBH AT LN
A 53,100,0002 53,100 59,000 A5,900
04 Al 180,000 200,000 20,000
OFA 2 S0EC2 HEZ DAHMILIHOIHH AR 2Y) A3 180,000,0002 80,000 200,000 20,000
06 Al&=CH] 823 1,382 A559
OZM 2Y SOEET2 LTH BA A2 (ME ST 0|80l &t E 2oy
A 823,002 823 1,382 A559
NE St2-sbiel2t SHEC2 HEYTA 923, 173 478,268 444,905
401 A& 2Oy 923, 173 478,268 444,905
03 EXfLH 370,905 241,480 129,425
ONE 22-H02l2t SHEC2 HEHTA EXNSHHI (ME LY 0|20 o= 2o
A 193,905,002 193,905 241,480 ~47,575
ONEAS-HMENSHECRH IR TAEX S|
AN 741,810,008 * 0.5kn - J|H 193,905,000% 177,000 0 177,000
04 Al 550,000 234,268 315,732
ONEAS-HMHENSHECR2H TR ZTAHME AT LI H0H)
1,100,000,000% * 0.5kn 550,000 234,268 315,732
06 Al&SCHY| 2,268 2,520 A252
ONE 2-SH0el2t SHECE HEYTA ALSUHI(MESZ 0|20l &= 2o
A3 2,268,002 2,268 2,520 A252
HUR BFHME MYTR2 ALTA 785,400 0 785,400
401 AlEHIL RO 785,400 0 785,400
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A AL
FH S Adae

Hel sHECE C2a &3 (e &)
SH-EFH - HA(FAH) - NRAE - BES Ofl AF9H J| Al Hws2
03 EX0Hyl 160,000 0 160,000
Ogaz stZEMHEHRALEZ AESAI BAEI(MESHAE LI 0| E)
32,653,061.2& * 4,9km 160,000 0 160,000
04 A&l 620,000 0 620,000
Ogaz sty MUEZ2 HEBSAHMER0AE LTI H0IY)
126,530,612 * 4.9km 620,000 0 620,000
06 Al&S0HHI 5,400 0 5,400
Ogedz sStAXMMH XNATZ HESA AIEL2UHBI(ME R0 AELF0|E)
1,500,000,000& = 0.36/100 5,400 0 5,400
AUSEU XNAEZ SHILE ZA 772,160 0 772,160
401 Al HI L2 HY| 772,160 0 772,160
02 A A& 20,000 0 20,000
Oagslsll MNATZ SZE A AA EHEBI(MESOAZEZEZHO0|E)
20,000,000& = 1.0km 20,000 0 20,000
03 EXI0HH 150,000 0 150,000
O2gstsll MNUYEZ SN SAF EAHI(MER0 AL MOIE)
150,000,000& = 1.0km 150,000 0 150,000
04 Al&HI 600,000 0 600,000
OiLgtstall ZAERE LY SAHMERHAELEHO0|EH) 600,000,000& = 1.0km 600,000 0 600,000
06 Al&=0HYI 2,160 0 2,160
Oattstal] MUEZ LY ZA AIEL2UHH (MY S0 AEAF0|E)
600,000,000& * 0.36/100 2,160 0 2,160
9,024,536 7,921,300 1,103,236
ol 245 = 4,449,005 4,449,005 0
J| 7,000 0 7,000
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A AL
FH S Adae

Col=0lECR C20 HE (SHel &2)
SNBSS - MRAY - LS 0l & o4 plEE HRE2

coiAme 2 & 527,147 394,147 133,000

= 4,041,384 3,078,148 963,236

JIBHAlE RRIE = 27,000 30,000 A 3,000

JIBFAIE ZHI X2 AL 27,000 30,000 A 3,000

201 et H| 27,000 30,000 A3,000

01 At 2teltl 27,000 30,000 23,000

OLHIN=ZE+ZHI LT (MESE OIS0l A B2 H) A2 & 27,000,000 27,000 30,000 23,000

=] 22| 7,150 7,945 AT95

SHoll CH 2 ==& H| FXl2c] 7,150 7,945 AT95

201 2Bt | 7,150 7,945 AT95

02 232944l 7,150 7,945 AT95

OStoth 2 =ZH|2lH (MERE 20| &0l A E 2HH) 23 7,150,000& 7,150 7,945 AT95

4,332,197 4,341,197 29,000

e m | s 3,400,958 3,400,958 0

= 255,072 255,072 0

= 676,167 685, 167 A9,000

g2 BHSIIAS 81,000 90,000 A9,000

401 AIEHIZ 204l 81,000 90,000 29,000

04 Al&HI 80,271 89,190 28,919

OESYHUSISAMMESZMOIHHAE2NH) 2% 80,271,000& 80,271 89,190 28,919

06 Al&=0HY] 729 810 A81

OLFY SHSII3AF 22U (MESE MO0 & 23 729,000 729 810 A81

2,563,757 2,040,498 523,259

=KX Dt x S s 840,847 840,847 0

& 118,075 63,075 55,000
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Sk

X XH -
d: =84

cel:

2|8H M|

—

i
40
el
[0

=
e

- SHRI(BIAH) - NREAY -

o

el

OH
A

pE-L"

0l

2
=]

L

SXl JIgtxd

HJ

1,604,835

1,136,576

468,259

2t01 BN H ALY

501,290

233,434

267,856

401 AIEHIL 2 HY

501,290

233,434

267,856

02 AAEAH

04 A&t

06 AlIE=0HH

Ozto] BXEeIAMY MAEHH(MESERO

O2toI8 X EelAt
O2oI8 X ElAt

O 0IZXNHe ML 2UEI (MA

& & 54,000,000

Z & 153,000,000

Z& 153,000,000&

Z2& 3,090,000

54,000
54,000
444,200
153,000

291,200
3,090
3,090

60,000
60,000
170,000
170,000

0
3,434
3,434

26,000
6,000
274,200
A 17,000

291,200
N344
A 344

A2 SYIIEHEHIAMY

956,369

755,966

200,403

401 AIEHIL 2 HY

956,369

755,966

200,403

04 A&t

OAanIZsgletdl

Oar2=sgIIeHEHIA

100,000,000 * 14

75,000& * 400m

20,000,000& = 14!
38,000,000& = 14!

70,000& = 600m

949,659
0

AT4,851
203,510

100,000
30,000
20,000
38,000
42,000

748,510
303,510

o

O O O o o

201,149
A303,510

AT4,851
203,510

100,000
30,000
20,000
38,000
42,000
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ST
ME:SHH W A3
Crol: =) A A (crol:xsl)
SA - HH L G(E) - NRAY - B 0l & o plEE" HIRE2
Otdts 2tds2 ZASAHMESOAZEZEHO0|H) 90,000& * 500m 45,000 0 45,000
OFSXNF =2 HUISAHMELO0 A2 ZH0IEH) 90,000& * 400m 36,000 0 36,000
OLX 78| 858 a2 X SAHMIR20AE 2201 100,000& = 300m 30,000 0 30,000
Ogd gétel & =s2XE SAHMIERHMELFHM0IH) 50,000& * 700m 35,000 0 35,000
06 Al&=0dl 6,710 7,456 AT46
OLAR=LIIEHEHISAIRUHI (ME SO0l A S 2HH) 2 & 3,240,000 3,240 3,600 A 360
OARE FU=JAAS2UHHI(MESZ MO0 A B2 H) Z & 3,470,000 3,470 3,856 A 386
— 15,000 0 15,000
NES 822l 52 T
== 15,000 0 15,000
15,000 0 15,000
401 Al HI L2 OHEI
< 15,000 0 15,000
04 Al&HI 15,000 0 15,000
OANEH 22l s=2ZEFSA 15,000,000& * 14 15,000 0 15,000
= 15,000 0 15,000
= - 20,000 0 20,000
NS 2R 27 SREFTA
= 20,000 0 20,000
20,000 0 20,000
401 Al HI L2 OHYI
== 20,000 0 20,000
04 Al&HI 20,000 0 20,000
Ot =8 a2y s2 Z3AM 20,000,000& * 14 20,000 0 20,000
= 20,000 0 20,000
_ - _ 10,000 0 10,000
S REE 52 ZEABA
== 10,000 0 10,000
401 Al HI L2 HYI 10,000 0 10,000
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A 21 A T T
U SR A

CHeli=X| J|BtEA (CHel @)
SN BHG(SH) - NRAY - BHES Ofl &k 04 s/l HIm =2

401 Al HIL 2] [ 10,000 0 10,000

04 A&l 10,000 0 10,000

Ottt RS S2UIIA 10,000,0008 = 1Al 10,000 0 10,000

[ 10,000 0 10,000

MSE M52 UE S2EXIA 10,000 0 10,000

[ 10,000 0 10,000

401 AlEHI L2 10,000 0 10.000

[ 10,000 0 10,000

04 Al&HI 10,000 0 10,000

OHSE a52 HE 52 ZHBA 10,000,0008 = 14l 10,000 0 10,000

[ 10,000 0 10,000

469,998 332,000 137,998

F2IANEE SXES [ 154,000 76,000 78,000

= 315,998 256,000 59,998

=84 PESFAY 90,000 100,000 A 10,000

401 Al HIL 2] 90,000 100,000 A 10,000

04 Al&HI 89,190 99,100 29,910

O=gE24 P23 M (MBSO AHE2ZH) 2 89,190,000 89,190 99, 100 29,910

06 AlE=20H 810 900 A90

SRS DESS ZAIRUHI(MESE 0|30 A E 2HoH) 2% 810,000 810 900 A0

SR D2tRE 2 A 26,999 30,000 23,001

401 AlEHILE0HYI 26,999 30,000 A3,001

04 Al&HI 26,708 29,676 A2,968

OF+XMaX LY SAHME SO Mol A= 2H) 2 26,707,400 26,708 29,676 A2,968
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SN A TH D

X‘IiH E:O-ID:!XHE’_;*‘ -_él-il-

Cro: o NES SXZe (crel xgl)

SA - HB - HRA(SH) - MRAY - B 0 &F o4 plEE HIRE2
06 Al&=0Hd] 291 324 A33
O +M4X DDA U (ME F 5 08 0 AE 2 %) 2 291,002 291 324 A33
=ClAE BT A 35,999 40,000 24,001
401 AIEHIZ 204l 35,999 40,000 24,001
04 Al&HI 35,611 39,568 A 3,957
O2clANEE+SAMESE MO AE2NH) 23 35,611,000& 35,611 39,568 A 3,957
06 Al&S0H 388 432 N44
O#2INEEETAL Y (ME P E0/ 20 A E ) 2 388,002 388 432 Ad4
e 2d s X2 =4 9,000 10,000 A 1,000
401 AIEHI YL 204H| 9,000 10,000 A 1,000
04 Al&HI 9,000 10,000 A 1,000
OUHEZERXNES(MESZ MO AE2ZNH) Z2& 9,000,000 9,000 10,000 A 1,000
56,000 0 56,000
SeMd=X =AY S 28,000 0 28,000
= 28,000 0 28,000
56,000 0 56,000
401 AlEBIZ 20 = 28,000 0 28,000
= 28,000 0 28,000
04 Al&HI 55,396 0 55,396
sMd=X A 55,396,000& » 14 55,396 0 55,396
= 27,698 0 27,698
o 27,698 0 27,698
06 AlES0H 604 0 604
SaMa=X ExAY 20| 56,000,000& = 1.077/100 604 0 604
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AL 2 AT

ni;

s H M A

crol:relAlde SxEe (crol: He)
S HB - HRA(SH) - MRAY - B Aro =

< 302 0 302

i 302 0 302

100,000 0 100,000

Ma=X =EHHLAS (HAEH) = 50,000 0 50,000

= 50,000 0 50,000

20,000 0 20,000

401 Al &I L2 OHYI = 10,000 0 10,000

= 10,000 0 10,000

02 A AEAbI 20,000 0 20,000

OMEHM =BHINLAIS AAIEAHHI 20,000,000& * 14 20,000 0 20,000

S 10,000 0 10,000

i 10,000 0 10,000

80,000 0 80,000

402 Q12tHE 01 & S 40,000 0 40,000

= 40,000 0 40,000

02 OQIZHCHEH AP HI 80,000 0 80,000

OMNEHM =HIHEAISY SIZ2HHEAIS YI 80,000,000& * 14 80,000 0 80,000

= 40,000 0 40,000

i 40,000 0 40,000

sA XU Ol A 22 55,680 54,656 1,024

sZ3XUW Ol A4 55,680 54,656 1,024

401 AIEHIZ 204 55,680 54,656 1,024

04 Al&HI 55,455 54,406 1,049

OUIAEXNL R 2 (MESE MO0 A E 2N 2 & 48,965,000& 48,965 54,406 A5, 441
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SN A TH D

X XH ‘=014 XH =4
(=2 ) =] =

o= A XU I A 22 (CH9®P)
S BB RA(BH) - HRAY - B Ofl & o Il & et Himz2t

OSERSHIA(MERUAZATH0IH) 6,490,000 = 14l 6,490 0 6,490

06 Al&20HI 225 250 A25

O AL LS 22| 2O (ME S E 20| 8404 AHE 204 A 225,000 225 250 A25

298,300 150,000 148,300

A2 AR 22 p) 7,000 0 7,000

= 291,300 150,000 141,300

AAUAHT S22 2| 135,000 150,000 A15,000

401 AlEHIL 20| 135,000 150,000 A15,000

04 A&t 134,028 148,920 A14,892

OUHX S2AZZI| LEL(MESHBOIHO|AZAH) 23 134,028,000 134,028 148,920 A14,892

06 AlZ=20HI 972 1,080 A108

OHX S22 L S22UHI(MEESF 0|0 AR 2N 2 972,000 972 1,080 A108

p—— 7,000 0 7,000

Il 7,000 0 7,000

01 9194 3,321 0 3,321

0| 3,321 0 3,321

10 JIZHZR2NSES 3,321 0 3,321

OHX P pelolg 36,9002 * 201 % 452 3,321 0 3,321

7| 3,321 0 3,321

201 L2 A 1,279 0 1279

p] 1,279 0 1,279

01 At2ZelHl 1,279 0 1,279

OJIEE el ARE 1,279,000 = 14l 1,279 0 1,279

7| 1,279 0 1,279
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SN AL
M AU A3l
SRl Hat 2R 2ol (EH2 &)
SA - EH - S2A(SAH) - MFAME - BHES Ol & 2R E A Blus
202 Ol 8| 2,400 0 2,400
Jl 2,400 0 2,400
01 =L0dbl 2,400 0 2,400
OJtE & 2tel =20 20,000& = 221 » 60 2,400 0 2,400
Il 2,400 0 2,400
ZHH X DI BHEHIALY 156,300 0 156,300
401 AIEHIZ 28I 156,300 0 156,300
04 Al&H 150,000 0 150,000
OZHRX JIEHEHIAIS (MEBRUAEZH2O0IR) 100,000,000& * 1.5km 150,000 0 150,000
06 A& =0HH| 6,300 0 6,300
O2HX JISHEHIAMY SUHHI(MESHMEZH20 ) 1,000,000,000& * 0.63/100 6,300 0 6,300
SHIAF a2 373,160 303,512 69,648
SHINTE SSEISA 302,494 202,772 99,722
401 Al &EHI Y| 302,494 202,772 99,722
04  Al&H 300,000 200,000 100,000
OSHIHNRSZEZSAMMER0MZEZEM0IEY) 300,000,000 * 14| 300,000 200,000 100,000
06 A28l 2,494 2,772 N2T78
OSHZHRSZEZSMRUHI(MESE OO AEZH) 38 2,494,000 2,494 2,772 A278
SHIHTE = == FH 70,666 100,740 A30,074
401 A ZHIZ S Y] 70,666 100,740 A30,074
04 Al&H 70,000 100,000 230,000
OSHZAHRE =2 (MBS 010 &t = 2Po) Z&d 70,000,000 70,000 100,000 230,000
06 AIZ208l 666 740 AT4
OSHIALE -2 ZHI2UHI (MBS OIS A EZ H) &3 666,000 666 740 AT4
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SN A TH D
o

FM: =03 MA 23
S SHAAHSE 2| CERED)
SH-EFH - HA(FAH) - NRAE - BES Ofl AF9H J| Al Hws2
212 CHE AL 563,294 327,492 235,802
JIHSEHZ LA QI2HHEEALS 145,802 0 145,802
402 QI2tX=01 A 145,802 0 145,802
02 QIZ2HCHSH ALY 145,802 0 145,802
OJlHs 2&=2 S(MB20MELH 145,802,000& * 14 145,802 0 145,802
Zbf=2 ZHIS A 124 190,000 100,000 90,000
402 LIt X0 & 190,000 100,000 90,000
02 DIZIHCHE ALY 190,000 100,000 90,000
Osti=z &Yl 23 90,000,000& 90,000 100,000 210,000
Ooga= S+ 100,000,000€ * 14| 100,000 0 100,000
,691,877 ,649,980 41,897
= 400,789 400,789 0
ot& Hl = 300,000 300,000 0
& 94,000 94,000 0
[y 1,897,088 1,855, 191 41,897
1,452,790 1,482,790 A 30,000
2ot E I = 400,789 400,789 0
= 1,052,001 1,082,001 A30,000
1,452,790 1,482,790 A 30,000
A0HE AIEE = 400,789 400,789 0
= 1,052,001 1,082,001 A 30,000
1,452,790 1,482,790 230,000
401 Al &HIYLEHYI = 400,789 400,789 0
= 1,052,001 1,082,001 A 30,000
02 & A& A 10,512 11,680 A 1,168
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SMAETH D
2 :5tA Fl

2l Aol A A Y| (chel /<)

A -3 -H2A(SH) - HEAMY - BES A JIH oM =

OAdtA HUIAIY AAEABI (KA (MER2EZH0I0 A E 2-H) 23 10,512,000& 10,512 11,680 1,168

04 Al&H ,403,369 1,461,995 58,626

OAGHE FUIAIY AIZHI(XHA) (ME S F 2030l A E 2+ o) dE 257,634,000 257,634 286,260 28,626

OZ 2Lt THIAIZ AIEHI(401-0622) 1,145,735,000& * 14 ,145,735 1,175,735 230,000

= 388,233 398,399 10,166

= 757,502 777,336 A~ 19,834

06 AlES0HI 38,909 9,115 29,794

OAotA HUIAIY AIER2UUI (KA (ME 220130 A& 2-H) 2% 1,854,000 1,854 2,060 A206

OAGHETHIAIY BHAUEX HLYAFHI S22 S(401-0401 M)

100,000 * 1500HA = 2A 30,000 0 30,000

= 10, 166 0 10, 166

o 19,834 0 19,834

822,907 816,850 6,057

AB R B s 300,000 300,000 0

< 64,000 64,000 0

o 458,907 452,850 6,057

Aotd mAl2tel 194,907 188,850 6,057

101 Q124 4] 8,696 0 8,696

10 JIZtH22AsSE+ 8,696 0 8,696

OctAEL A 28 E(MERHAZLEH0IEY) 32,650% * 201 * 100 6,530 0 6,530

OFF+L(MESUME LTI EH) 32,650 * 36 1,176 0 1,176

O+ (MR AE2ATHOIE) 32,6502 *» 9 294 0 294

OHLEEHE (MR AL T HOIE) 16,325,000  10.78/1,000 176 0 176
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SAMNAL T
¢}

ZM:otd &
tHe| AR 22| (chel /<)
SAN-ZH-SAFA) - NRAY - BES Of &F o4 JIE Blw &2
OUEEES(MERUHLMEAZMOIE) 16,325,000& * 9.8/1,000 160 0 160
OULEES(MERULEAZOIE) 16,325,000 = 22/1,000 360 0 360
201 2er2aEt| 16,246 0 16,246
02 Z3=29gl 16,246 0 16,246
OotdE=£&Hl =FU 1,140.498 » 604 » 252 * 8& 13,686 0 13,686
Ostd &L ZHI (24H0]) = Xl 320,000 * 8 2,560 0 2,560
401 AlEHIZ 208 169,965 188,850 /18,885
04 Al&H] 168,750 187,500 A 18,750
OAcHe X2/ (MBS OIH M A E 2 NH) Z& 168,750,000& 168,750 187,500 18,750
06 Al&S0idl 1,215 1,350 A135
OAGtEFA 2] ALRUHHI(ME ST OIS A E2ZH) 2E 1,215,000& 1,215 1,350 A135
Xt 2tel 202,297 224,775 A22,478
Aot HE 2el 9,000 10,000 A 1,000
401 A& HIZL 208 9,000 10,000 21,000
04 Al&H] 9,000 10,000 A 1,000
OXlots Ha AAS2(MYSHHO|I SO AE2H)

Z& 9,000,000& - J1E 10,000,000 A1,000 0 A 1,000
Aot HeFE A 193,297 214,775 N21,478
401 AlEHIZ 208 193,297 214,775 N21,478
04 Al&H] 193,297 214,775 A21,478

O=gs2d Xt SEIA(MISEHOIHAE2H)
&3 193,297,0008 - J1& 214,775,000 A21,478 0 A21,478
213,883 125,565 88,318
Aoz otd 2el < 30,000 30,000 0
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22 T e Dt
Z2:od Hy|

crol: Mista 22| (Er9): M8

SA-EHH-SR(E) - HRAY - BYS 0l & 24 p[E=L HIRE2

X 225 ofd 22 = 183,883 95,565 88,318

72,008 55,565 16,443

otd Jld M Zl = 10,000 10,000 0

= 62,008 45,565 16,443

201 LEr2AH| 4,765 5,295 A530

01 AR 2eldl 4,765 5,295 A530

OCtHEEMERRNAZESZ+2(XM) (MBS E OIS A E2ZH) 2 & 4,765,000 4,765 5,295 A530

203 H =8| 9,000 10,000 A1,000

03 AIMFAHLZ=AH| 9,000 10,000 A 1,000

OAZI2E X2 AMEESE LR2FXH (M) (MESE MO0l AHE 20 H) Z & 9,000,000 9,000 10,000 A 1,000

58,243 40,270 17,973

401 Al HIZ 20 = 10,000 10,000 0

s 48,243 30,270 17,973

04 Al&HI 58,000 40,000 18,000

OXe226t® I8 (XM (MESE OIS0l A E2HH) Z & 18,000,000& 18,000 20,000 22,000

OXg23stE I G MEH (XA ) (FIH=2) 2 & 9,500,000& = 4J42 - J1& 18,000,000 20,000 0 20,000

06 Al&=0Hd] 243 270 N2T

OXg2Zota JISK Hol SO ) (ME P B0/ 0 =2 H) A 243,000 243 270 ner

otd EAE4 101,875 30,000 71,875

401 A ZHI S Y] 101,875 30,000 71,875

03 EX0HH 97,000 30,000 67,000

O3H+H=EFEXNS4H XA(MESZHOIHM AEZAH) Z2& 27,000,000& 27,000 30,000 23,000

OS2&dx=72EXNEAH X (FIH) Z2& 97,000,000& = 141 - J1& 27,000,000& 70,000 0 70,000

06 Al&=20Hdl 4,875 0 4,875
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A AL
& :otd Eol

Chol: X|Btog oiE B EER-E))
2N -3 - c2(3H) - NEME - HES 0qf AF2H J|l &< Huns
| | | oom 2 z2es) 442 65,0008 * 752 X| 4,875 0 4,875
2,381,250 1,302,636 1,078,614
= 204,977 204,977 0
T THEH ol ¥ =pse 2s 7 599,000 599,000 0
[ 30,650 28,000 2,650
o 1,546,623 470,659 1,075,964
716,660 98,738 617,922
= 1,000 1,000 0
XOITh L ol 22l
[ 1,000 0 1,000
= 714,660 97,738 616,922
9 EEE= XY 6,075 6,750 675
201 Uut2 Y] 6,075 6,750 AB75
01 Al222lH| 4,149 4,610 A461
OMLHO LS & 4 0HRI X (MR SR 0| 0f AL - 2 0H) HA 1,849,000 1,849 2,310 A461
03 A2 1,926 2,140 A214
OYTHOlY S A B0 R (ME 2 E 0|30l AR 2 M) A= 1,326,000 1,306 1,540 A214
S H|ABIE 2HB7) 639,778 36,058 603,720
101 @121t 3,265 0 3,265
10 JIZH22NsSEL 3,265 0 3,265
OBtar HIAEIR ARl HAH|(201-01 AL Z2IHI0A) 32,6502 * 201 x 50 3,265 0 3,265
201 Yut2 Y] 8,813 13,058 A4, 245
01 Al222/H| 0 3,265 A3,265
OBtAH A B IR QT2 2/H (AIRHA)(101-10 JIZHM22X E42) A% 02 0 3,265 A3,265
2 Zz=29H| 8,813 9,793 980
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2AN:

raF=pN L=

BB Kol Ol o =R 2s

ol Mot ol el CEEED
SA-EB .S (BH) - HBEAY - B Ofl Ao J| & o e}

OlF Bt=Ed XF = 2 000 1,000 1,000

4,000 2,000 2,000

o1 esaa = 1,000 1,000 0

= 1,000 0 1,000

2 2,000 1,000 1,000

10 SAAI S AS 4,000 2,000 2,000

02008 QHEBRER &I A 2 4,000,0008 4,000 2,000 2,000

2 1,000 1,000 0

= 1,000 0 1,000

2 2,000 1,000 1,000

48,119 48,466 A347

TLkolgr Al& 2] = 8,500 8,500 0

2 39,619 39,966 A347

TS 31,119 31,466 347

201 28r2 9| 31,119 31,466 347

02 ZzeYyl 31,119 31,466 A347

OTIBHCHE R 2DRD (M SR ™0/ 80 A S 20K ) 257 7,933,0008 7,933 10,080 A2, 147

OMURE ZHOIK SKR2IH(MESE 0|20 AR 2H) 2 3,200,0002 3,200 4,200 A1,000

OMUBRE CCTV ®IIQ3 40,0002 * 7HA * 108 2,800 0 2,800

156,685 757,998 398, 667

el SIE oo Myl 2 599,000 599,000 0

2 557,685 158,998 398,687

998,000 599,000 399,000

NEE BT E 599,000 599,000 0
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X XH -
o =

raF=pN L=

[

T - THoh o 2 =R Yt

crol: Tl e Als B2 (crol: He)
SA BB BA(EA) - NRAY - B Abod =

Mol ?l & Xl 2 & Hl = 399,000 0 399,000

998,000 599,000 399,000

401 AIEHIZ 204l s 599,000 599,000 0

= 399,000 0 399,000

04 Al&HI 971,751 592,712 379,039

O ?E X+ ZHIAHSG Al £ I 971,751,000& = 14 971,751 592,712 379,039

s 583,251 592,712 A9,461

= 388,500 0 388,500

06 Al&=0HHI 26,249 6,288 19,961

ORI E X A EHUIAL Al E 2 OHHI 991,751,000& *0.63% 6,249 6,288 A39

Py 3,749 6,288 A 2,539

o 2,500 0 2,500

O2xotdEHIAIE HAEX MHEY 2 Sll+==28 100,000& = 20094 & 20,000 0 20,000

s 12,000 0 12,000

o 8,000 0 8,000

SUHAE =FHEF| 158,685 158,998 A313

401 AIEHIZ204H| 158,685 38,998 119,687

02 & AIEAbI 4,406 4,896 A 490
OSUABLSZATY|(35 LEEE) MAEHN (MRS 2oH)

2 & 4,406,000& 4,406 4,896 A 490

03 EXI0HHI 29,700 33,000 23,300
OSUELEFEFYI(38 =) EXNMHLYH(MBEE 4 2+ o)

Z2 & 29,700,000 29,700 33,000 23,300

04 Al&HI 120,000 0 120,000
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—

0
40
o]
[0

0l
0

600,000& =+ 200m

120,000,000 * 2.99%

Z2& 991,000&

120,000
3,588
3,588

991

991

0
1,102

1,102

120,000
3,588
3,588
A1

A1

0

120,000

120,000

Ol 2 Off & & 2N

H)
Zd& 108,000,000

Z& 0% - J1E 108,000,000&

0

108,000

108,000

120,000

120,000

0

A 120,000

A 12,000

108,000

Mo W

395,950
201,000

19,500
175,450

345,500
201,000

19,500
125,000

50,450
0
0
50,450

105,950

55,500

50,450

4,950

5,500

550

Zd 2,250,000&
Z& 900,000&
Z& 1,800,000

4,950
2,250

900
1,800

5,500
2,500
1,000
2,000

550
A 250
A 100
A 200

401 A& HIZL 2 OHY]

101,000

50,000

51,000

04 Al&H

101,000

50,000

51,000
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T - Tl
Chol ol = P a

= 23 CEEED

SA - HE - S(EH) - NRAY - BES Ol ko 0l & o HI D=2
OSZ=7 AU (MESE R0 30 A E 2 ) 2 H 45,000,0008 45,000 50,000 £5,000
OBZTHE =HE MH AL 700,0002 * 80 56,000 0 56,000
63,836 51,934 11,902
OIE YL Of 22 = 2977 297 0
< 1,650 0 1,650
= 59,200 48,957 10,252
CExe 20M AlM FH| 19,800 22,000 A2,200
401 AlSHIY =0yl 19,800 22,000 £2,200
04 A& 19,800 22,000 £2,200
ONAS LEZel SOIRMAIMS T H|(MES2E 2030l AR 240k 23 19,800,0008 19,800 22,000 A2,200
OIFTHUAD IBAES FH| 18,000 20,000 A2,000
401 AlAHI2 2 0] 18,000 20,000 A2,000
04 A&l 18,000 20,000 A2,000
OOIRTYLAN T SIEAIA & U] (AR 5 2 0] 3 0 A K 24 0H ) 27 18,000,000 18,000 20,000 A2,000
ANEZ QEEZ U 2o 3,582 3,980 398
201 218r2 0| 3,582 3,980 1398
01 Ateld| 3,042 3,380 338
ONEE QHEEZ JISEE(ME 2T 203 0) Az 2ol 2T 1,542,0008 1,542 1,680 A138
OTHLIOHE RIS RIS (A S5 20| 3 0 AR 24 0H) 23 300,000 300 500 £200
02 2B 540 600 A0
OANES OHEEZ SHI QX (ME 5 20] 30 AR 24 0H) 23 540,008 540 600 A0
16,500 0 16,500
Y20l oNSESE Y = 1,650 0 1,650
2 14,850 o 14,850
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A ST
=ECRLIETE

ni;

cielolsur N EGHE)
SN HM . ER(BH) - NTAY - B2 03] & o I & o HDS2

O0l2H oA AL HII 2 10,000,000& * 14! 10,000 0 10,000
20,000 0 20,000

gorog A N
= 20,000 0 20,000
20,000 0 20,000

402 212tt=01 A
== 20,000 0 20,000
01 tEgx 20,000 0 20,000
Oggosadl ANEE+ 20,000,000& * 14| 20,000 0 20,000
= 20,000 0 20,000
17,056 12,200 4,856
olglz =4 S 6,076 0 6,076
o 10,980 12,200 A1,220
fH=z&& XA 10,980 12,200 N 1,220
403 X XIEHSXH=01H 10,980 12,200 A 1,220
03 OH=ZSdANANG=EXL 10,980 12,200 N1,220
ONHIZ B8Z AUIOIE FUITY(MERIH0IB0I AT %3 5,000,000 5,000 6,000 A1,000
Otz S8 ZHl FL(MESI Moo aEZ ) Z& 1,330,000 1,330 1,550 N220
_ 6,076 0 6,076

Oidlz E&&Hl X&
== 6,076 0 6,076
o= 6,076 0 6,076

403 TS H ST 20| F

T 6,076 0 6,076
03 Obl=Z=s8XaAE2Ex 6,076 0 6,076
Olildl= & &% 2¢ 30,000& * 5204 1,560 0 1,560
S 1,560 0 1,560
Oouldlz et +& 7,706.23 * 5864 4,516 0 4,516
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i
40
el
[0

B C2(3) - MBAY - BES Ak ok Il =2
3,556,0002 * 20 A 7,112 0 7,112
24,615 25,955 A 1,340
< 3,767 3,767 0
2 20,848 22,1883 A1,340
24,615 25,955 A1,340
A OHISIE T (XHH) (ME |AFE 2toH) 23 7,200,0002 7,200 8,000 A800
Al BRESRI A (KERD) (A& NE-EIE) 23 3,460,0002 3,460 4,000 A540
19,770 21,300 A1,530
< 3,000 3,000 0
2 6,770 18,300 A1,530
14,770 16,300 A 1,530
= 500 500 0
2 14,270 15,800 A1,530
03 A2 14,770 16,300 A 1,530
OMEOILS DEAA +S(MIRT OIS0 AR 2AM)
23 5,670,002 - JIE 6,300,0002 A630 0 A630
23 8,100,002 - JI& 9,000,0002 900 0 900
7,847,641 4,580, 117 3,267,524
2 100,000 100,000 0
= 162,085 162,085 0
2 7,585,556 4,318,082 3,267,524
48,905 45,122 3,783
32,960 29,242 3,718
32,960 29,242 3,718
11,987 14,875 £2,888
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SA AL D
M DEAF HAM
e BT = feag (2 &)
SA - EE L SS(S) - MRAY - HAS 0l &k o J1 & o D=2t
| | O OHH E X T AE 2,005,000 2,005 2,330 A325
6,962,580 3,647,377 3,315,203
AR = 162,085 162,085 0
2 6,800,495 3,485,292 3,315,203
SEHX 6,258,203 2,947,000 3,311,203
307 QI120| & 6,258,203 2,947,000 3,311,203
09 2LAHEE 6,258,203 2,947,000 3,311,203
O24+UHREUX 6,258,203,0002! * 14l 6,258,203 2,947,000 3,311,203
SUNISHASHE AT A D 18,000 14,000 4,000
301 YetEAD 18,000 14,000 4,000
12 JlEtRA2 18,000 14,000 4,000
OSYlSHASHEA LA R 1,500,000 * 1274 & 18,000 14,000 4,000
836, 156 887,618 51,462
DEOHM AL B2 = 100,000 100,000 0
7 736, 156 787,618 51,462
ASI| Al 239,067 265,630 26,563
201 LEr2 Y| 61,317 68,130 6,813
02 2z=29H| 61,317 68,130 16,813
O 2222 YAl 57,997 64,810 16,813
ONSEASSHILD(ME ST 0|0 AR 2 H) A 57,997,000 57,997 64,810 16,813
401 Al&HI2EHH 177,750 197,500 19,750
04 Al&H 177,750 197,500 A19,750
OWEAND U2XSE FEE DH(MISH OB AR 2L H) A 94,750,000 94,750 114,500 19,750
s AE)| gz 183,600 204,000 20,400

_37_




ST T
I DEBT N

£rol: DEOIE Al & PI2) (crol: He)

SA - HB - HRA(SH) - MRAY - B 0l & o plEE" HREZ

401 AEHI S04 183,600 204,000 A 20,400

04 Al&H| 183,600 204,000 220,400

OLEFAMSI EF DHM(MEEZEHOIZ AE2H) Z 3 63,600,000 63,600 84,000 220,400

gy dX=29 52,639 58,488 25,849

201 LEr2Ad| 9,439 10,488 21,049

02 23244l 9,439 10,488 A 1,049

OYHESCCTV 3ld MBS (MESZMOIHH AL NH) 2 & 9,439,000 9,439 10,488 A 1,049

401 AlEHIZ R OHA 43,200 48,000 A4,800

04 Al&HI 43,200 48,000 A 4,800

OY-E CCTV X (MBS0 &0l AHE 2 H) 2 & 43,200,000 43,200 48,000 24,800

wsSotd HX|e2te| 74,250 82,500 28,250

401 A& HI 22 CHHI 74,250 82,500 A8,250

04 Al&HI 74,250 82,500 A8,250

OJIEtnNSetd Ald=S &Xl 11,750 20,000 N8,250

OEH2{i2 (M P B 0] 3 0fl A1 E 24 08 A 11,750,000 11,750 20,000 8,250

sZE 2el 143,600 134,000 9,600

401 Al HI YL 2| 143,600 134,000 9,600

04 Al&HI 143,600 134,000 9,600

Oz0Isd&a 4 7,200,0002 * 10902 72,000 49,000 23,000

O0ISEHE DH(MESEMOIHH A2 NH) Z2 & 56,600,000& 56,600 70,000 A 13,400

HY2HZH (AATHHD) 101,312 102,363 A 1,051

eled 2| 12,637 6,613 6,024

ol 2| 12,637 6,613 6,024

101 @124 4| 8,641 2,173 6,468
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S AETH
MM HH2AZH (AL )
CHe D[ =AY (e & R)
A -3 -H2A(SH) - HEAMY - BES Off &K ) = e Hlns2t
OS2 AMMIEI 2,000,000 = 1CH 2,000 0 2,000
OF A 500,000 * 1CH 500 0 500
ESAY D=2 11,520 12,800 A 1,280
201 L8t HH| 8,820 9,800 A980
01 At222|H| 8,820 9,800 980
olger+=g4l] 5,220 5,800 580
ORANRY SUHM(MYESHBOI Y AZ2NH) 33X 5,220,000 5,220 5,800 A580
Ool=2&tl] 3,600 4,000 A400
ORANEE SUHA(MYSZ OIS AT 2ZH) 33 3,600,0002 3,600 4,000 2400
202 01 H 2,700 3,000 A300
01 2U0idl 2,700 3,000 A300
ORANRY SUAHM(MESHTOIH M- 2NH) 33 2,700,0002 2,700 3,000 A300
SAIBHEL AR I 2 A 10,314 11,460 A1,146
201 L2 A 7,146 7,940 AT94
01 At222lH| 7,146 7,940 NT94
Oolger+al] 3,780 4,200 A420
ORANRY SUHM(MESHTOIH AZ2NH) 2% 3,780,0002 3,780 4,200 A420
Ol=2&tl] 3,366 3,740 N374
ORANRY SUHM(MESHOIHO A 2ZNH) A2 3,366,0002 3,366 3,740 A374
202 01| 3,168 3,520 N352
01 2U0idl 3,168 3,520 A352
ORARY SUHM(MESHOI M- 2H) 2 3,168,0002 3,168 3,520 A352
THet2tel Jl2a| 13,878 15,420 A1,542
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] 21 4 TH
ST SAAU (LD

chel ol = bl (ol 2 e)

SH-FH . S2(30) - MRAY - BES O &F 04 plE=E HRE2

201 LEr2EH| 7,398 8,220 AB22

01 AR 2eldl 7,398 8,220 AB22

Olget=&Hl] 4,536 5,040 A 504

ORMSY SUNL(MBRTHOIHO HEZ M) A 4,536,002 4,53 5,040 A504

olazHl] 2,862 3,180 £318

ORMN2Y SHAHM(MEREHOI 0 A E 2 H) 23 2,862,000 2,862 3,180 A318

202 O4H| 6,480 7,200 AT20

TETET 6,480 7,200 AT20

SAN2E SUAHYS(MESEHOIHA AL NH) 2% 6,480,000& 6,480 7,200 AT20

olerel J|E2Z 4| 14,760 16,400 A 1,640

201 2er2at| 10,080 11,200 21,120

01 AtR2teld 10,080 11,200 A1,120

Olg s8] 6,840 7,600 ATE0

ORMSY UL (MBRTHOIHO HEZH) A% 6,840,002 6.840 7,600 AT60

Ol=l] 3,240 3,600 A 360

ORASY UL (MB LT HOIHOI HELH) A% 3,240,002 3,240 3,600 360

202 Od| 4,680 5,200 A520

01 =LY 4,680 5,200 A520

ORN2Y SN (M LI OIS0 A=) A% 4,680,002 4,680 5,200 A520

wEsdEE J|=23Hl 11,745 13,050 A 1,305

201 LBt AY| 6,345 7,050 AT705

01 AtR2teld 6,345 7,050 AT705

olger=gtl] 3,780 4,200 A 420
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A 248 T D
HUTSAA| (AL

£rol:)| = 2] (cre) @)

SR (B1H) - MR A - B Ak ol =2

ORME2Z Z & 3,780,000 3,780 4,200 A420

Ol=&tl] 2,565 2,850 A285

ORKN=Z9E Z& 2,565,000 2,565 2,850 N285

202 O4Hl 5,400 6,000 A600

01 =Loil 5,400 6,000 600

ORN2Y WAL (MESEH0IH 2 & 5,400,000 5,400 6,000 A600
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